THE GAUHATI HIGH COURT AT GUWAHATI

{The High Court of Assam, Nagatand, Mizoram and Arunachat Pradesh)

Written Examination {OMR based Objective Type Questions with Multiple Choices) for direct
recruitiment of ADMINISTRATIVE OFFICER for the Judicial Academy, Assam

Total Marks: 100+20=120 Duration: 2 hours
Date: 16.09.2018 (Sunday) Time: 1.30 PM to 3.30 PM
_Total Number of guestions=120 . Each guestion cares 1 (one) mark
Choose the correct synonyms. (Q. No.i to 5) !
1. | Voracious o N |
A. | Tenacious B. | Truthful C. | Spacious D. | Ravenous
2. | Abortive - -
A | Fruitful B. | Familiar C. | Unsuccessful D. | Consuming
) 3. | Tentative o ]
A. | Mocking B. | wry C. | Experimenta | D. | Prevalent
_ o - e
4. | Replenish B _ R _ L L
A. | Reinstate B. | Refill C. | Refuse D. | Polish
5. | Repercussion - B j
A. | Resistance B. | Magnificence C. | Acceptance D. | Reaction
Choose the correct spelling (Q. No 6 fo 10) - N —_ .
6. | A | cauliflower B, | couliflower C. | couli-flower 0. | cualiflower
"~ 7. | A | confactionery B. | confectionery C. | confectionary D confactio@ry
8. | A | ganetic B. | genatic C. | genitic D. | genetic o Wﬁ{
9. | A | nectar B. | nacter C. | nactar - TD | neckter
10, A perspactive B. | perrspective C. | perspective D pa'rs_pective -
_Camplete the 'f_pliowing sentences (Q. No 11 fo 20) - _' -
11. | Jawaharlal spent his childhood ..o, Anand Bhawan -
A, | at B.|in C. |on D. | across
12| The boy was cured .., typhoid ~ _ __':___{
A, from B. | of C. | for D. | through
13.] Lshall meet you ..o 6 o'clock o o ,
A. | by B. | at C.|in D. | during
14.| My father will retire from service ............ a year_____ ; |
A, | of B.{on C. 1in D.| by
15, He COMES ooevrerneerees. @ CAT B N —
Ao | at B. | by C. | with D. | on
16.| His path was beset ..o difficulties
A, | with B. | within C. | among D. | by
b - - 1
17.] Most of us @at ....cevniieninnn @ 5poon
A. | with B. | in C. | for D. | by
18.| My grandfather will come here ... I a week -
AL with B. | before C. jat D. | within
19, We are pleased eeeerereraess your visit S .___
A | with B. | at C._[ by D. | on
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?O1 It WI” thmk __ _._.,..jﬁe maLter , o - o
A for 8. | on C.|at y iabm
" Identify the correct tense (Q. No 21 t6 25) -
21, Sangeeta is walking_____ e e
A. | Simple past B. Simple present C. | Present contmuous] D. | Past perfect
727 Rajiv was born in Dibru jarh '_ - ) ___
A. | Simple past B. | Simple present C. LSimple future D | Past continuous
"53| Rakesh would have reached Mumbai by this time____ o
A, | Present perfect B. | Past perfect C. | Future perfect l Simpie past
74| The carth moves round the sun S .
A. | Simpie past B. | Past perfect C. Sxmpie present D. | Past future perfect
_ 25 It will rain soon - S ___‘_:__' - ] ;_ __;
PA. | Simple past 8. | Simple presant C. | Past future J Simpte future
T Setect the odd one out (Q. No 26 to 30) T
26, A. | Canteen B. | Dancer C. | Stage D. | Makeup I
27 A Judge B B. | Chamber C. [Tennis D. | Lawyer -
28.| A. | Blackboard B. | Duster C. | Computer .| chalk
T 290 A Tiger B.| Hen — e Ton D. .Leopart‘ju - N
“30.[ A [Kitchenware | B. | Chair [E Sofa D.| Table
_ 31| The Halaginga a\;RT?aLlonAm?as dascoveled in the year B ‘,”_; ______ o -~ ; #—
A 1901 B. | 1921 C. | 1935 1942
- -j327 Whlch am'cW)rT_d fhmé- followfﬁ]?the sa_cred book-bf the Buddhists? ) L i 71 7_
A. i Upanishad B. | Vedas C. | Tripitaka D. Agams
- B I — ]
- __3; Who has the nght lo seek advisory opinion of the Supreme Court of India on any question of law?
A. | Prime Minister B. | President C Judges of High D. | All the above

n whncb Gen_eral f“lectson did the Congress Party lost maJorlb/ in the Partiament for

the first time?

A. Ll%i 8. 1977 C. 1980 D. | None of these
:7 ) 35.] As Lhe econorznlclevelops, the share of the tertiary sector in the GDP o _ 7:
A, | Decreases B. | Decreases then C. | Increases I | Remains constant
1 L | increases . o
36 Ccnsus of popuiation i m India is done after ]
A | 2 years B. | 5 years C. | 7 years D. | 10 years
7@;73, Natlonal Ruaa! Health Mtssron (NRHM) was launched in tﬂf;legr_ } V_# ‘ - i_ﬁ :
Al 1 2003 B. | 2004 C. | 2005 D. | 2006
... - _— — e —
38, \Nh|ch instrument is used for measuring humidity of atmosphere? L
l lBa rometer B. | Anemometer C. | Ther mometei D. | Hygrometer 1
3 —39 'The noﬁﬁ_pglﬁe*é{ the carti's magnet is near the geographical - %_,___ ] B -
‘A | South B. | East C. | West D. | North
] " 40, The most abundant metal in carth crustis o
Aot iren B. | Magnesium C. | Calcium D. | Aluminium
T T T
: A | Mixure B. | Element C. | Metal D. | None
T N B .,__ _ Ao o
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Which is the heaviest metal among the following.
A. | Gold B. | Sitver l C. ‘ Tron 1 0. ] copper
.| State with highest percentage of forest is - _ o ] |
A. | Arunachal B. | Uttar Pradesh C. | Mizoram D. | Assam
Pradesh i - o
.| The canal which links Atlantic ocean with Pacific Ocean is _ h
A, | Suez B. | Malacca C. | Panama D. | Gibralter
[ Which of the Following is the largest river in the world? T
A. | Nile B. | Congo C. | Gages D. | Amazon
.| Which key is used ﬂ"_;i&hbiﬂéiﬂ()ﬂ with another 'I<ey t_{i pgi@w specific task? B B -
A, | Function B. | Spacebar C. | Arrow D. | Control
Main memory works in conj_gg_c_ti@n with S _ﬁ_ B
A. | Special function B. | RAM C. | CPU D. | Intel
_lcard - S I S B S
.| Which of these keys is not on the number keypad? _  _
A. | Ctrl B. | Del C. | Enter D. | Num Lock
Davices that let the computer ¢§gj_mgnicate WIth YoUL..een, _ . —_—- L
A. | Input B. | Output C. | Type To. | print
Built in memory of COMPULEr 1S ...cc.ene S
A | EROM B. | ROM C. | RAM D. | PROM
.| The speed of a train_is 90 kmph. What is the distancjé ¢9\ig£ed by it in idm'i'_rizt?ég?ﬁ —: _
A. | 15 kmph B. | 12 kmph C. 110 kmph D. |8 kmph
.1 What sum of _p}_g_ﬂ_'c;y will pj‘(_)_C_]_l,iCé Rs.70 as simpie Enteresf% 4 years at 3 1/2 perceni? '____7_7
A. | Rs. 525 B. | Rs. 500 C. | Rs. 550 D. | Rs. 555
What is the rate pcrceﬁt “when the sin:ig‘ le interggt__(_)n_Rs.S(_)p_émount@ B_SLJ._S_O "ihﬁé}_Yea_r__s_?'_ _ __‘_W B

A | 5% B. | 6% C. |lav:o 0.3 1%

Find the one which"'does_not bé[dﬂhéﬁtﬁor that group?.

A 3 B. 4 C. 5 D, 9

Solve the equation for x : 6x - 27 + 3x =4 + 9-x i

A |4 B. |5 C. lg D] g

. :‘_Fﬁe sum d'ff'kfgp_lj_qgrgsgg@jve even numbers is 292. W@;_wg_q_fd t_j_éﬁt'he smallest number?

A | 74 B.| 76 C. |70 D, 68

.| A, Band € invested Rs.6300, Rs.4200 and Rs.10500 respectively, in a partnership business. Find the
| share of A in profit of Rs.12100 after a year? o - R
A. 1 Rs.3630 B, | Rs.2840 C. | Rs.3200 | D. Rs.5600 |

.| Find the principal on a certain sum of money at 5% _p;er annum for 2 2/5 yea?s if the amount heiny
Rs. 11207

A [Rs1000 | B | Rs.1100 C. Lr<s.1050 iD. Rs.1200
A cycle 15 Bought for Rs,900 and sold for Rs. 1080, find the gain percent?
A 162/3% B. | 200 C.Tm% D. | 25%

.| A man sells a horse for Rs,800 and loses somethingT if he had sold it for R5.980, his gain would have

been double the former loss. Find the cost price of the horse?

A, | Rs.900 B. | Rs.875 C. | Rs.850 2. | Rs.860
.| The longest river in Asia is i ' M ]
A. 1 Indus B. | Yanglze C. | Hwang Ho D. | Ganga

Page3of 7



Whlch sector is tho Iargest cmitter of gl eenhouse gases m Indrla?

[V

A. | Transport B. | Domestic C. | Agricultural D. | Electric Power |
63. | Heavy metal poliution of water is caused by _ L
A. | Domaestic B. | wood burning C. | Acid plants D. | Paints
. 1 sewarage I S R
_ .64, The waves used in sonography is_ e .
A. | Micro waves Infra red waves C. l Sound waves D. | Uitrasonic waves
" 65.| Which one of thé'f'o—llowing countries is not an Organization of Petroieum Exporting Countries (OP_E_C_)W
- - -| mtmber? e ————— . U e — - s — —_— i ——— ]
"A. | Russia B. | Irag C. | Libya T D. | Tran
o 66, | World AIDS Day i_sfoub-s—erved on which of the following days? - ) o
A. i 1% December B. | 1% March C. | 15 April D. | 1% May
i?_ Which of the follc;\‘@iﬂg__cquntries is selected as a host of Commonwealth Games- 20227 ] gi*
A. | India B. | Austraiia C. | Great Britain D. | South Africa
68., The 65" Nationai Film Award for Best Actress was given to
A. | Vidya Balan B. | Kareena Kapoor C. | Privanka Chopra D. | Sridevi
69| Which of the f olloﬁliﬁz}uims—nai the | name of the,cﬂr'f'eﬁgy_of a country? _::_ﬁ
A. | Rand B. | Pound C. | Dinar D. | Eucador
70.| The subject matter of personnel managementis | o
A | Profit B. | Capital investment C. | Human baing D. | Wages and
' , | incentives
! Pusonnel ‘management specifically deals with human resources in respect of ]
A. | Procurement B. | Development C. | Motivation D. | Al of the above
~ 72.1 The following factor(s) affect (s) manpower planning __:‘_7777. T
A. | Working hour B. J Nature of production | C. | Performance rate | D. | All of the above |
SR FR O S VA e
T30 s method of training is connected to real hf@ problem o o
A. | Conferences B. | Case study C. | Manazgement D. | Sensitivity Lrammg
S R . _games N
74.1 An organisation structure is effective if it enables individuals to contribute to the objectives of the
_.___| enterprise. This is known as I _ S
! A. | Scalar principle B. | Principle of unity of C. Principle of D. | None of the above
objectives functional
1 _L__ L L definition i
75.| Directing [ function of management lmphes - , |
A. | Staffing B. | Leadership C. | Motivation D. | All of the above
___76.| Price augments of product impacf sales ) . 7w
A. | Positively B. i Natural C. |A&B D. | Negatively
,77_2_.7 Incremental trades are parts of o __ - —— ] N
A, !__marketmg -Mmix B. | base and incremental | C. | base Sales D. | all of above
, | models volume model B | |
___7/8.; When every party has something that might he of worth to other party, it results into .
A. | marketing activity| B. | exchange process C. | market place
S SRS S o
79.| Short period incentive prc_senLed {0 persuade a re{atier ta stock up on man manufacturc.d goods & are
: A, | trade contest T 8. | dealer lcader C. | trade aliowances push money
}36:}_ Salgsjéglgerl|5|ng Latgated at customers are afe called B - o ) _vi
A. | trade sales B. | sales C. | consumer sales D. | all of above
B | promotions - o promotions i
81.| Features of a workforce, like ageLgender or socsetal groqp is ) I o
A, 'l diversity B. | demographics C. | skills D. 1 selection
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82.| Human capntal management is occasionally used synonymously among _ -
A. | marketing B. | finance C. | information D. | human resources
_| Technology . e
__83.| SHRM stand for - e o
A. Soft Human B. | Sophisticated Human | C. Superlor Human | D. | Strategic Human
Resource Resource Management] Resource Resource
Managemeni _Management Management |
84, Dissimilari_ty_am_o_r_}g_r[qeoplesf otkplace is )
A, | skills B. demographlcs C. | diversity D.la&b ﬁ
85.| Facebook, Twitter, and LinkedIn are used for recruiting which is known as _ i}
A. | internal recruiting| B. | social recruiting C. | external recruiting | D, | media recruiting
86.| Pane! of employces who get statements from other disciplined subordinates to make decisions is called
A, | peer review panel| B. | instructive panel C. | constructive panel | D. | distributive panel .
87.| Projects involving a "disruptive” technalogy that is known to industry or that organization has been
developing over time, are o o
A. | Breakthrough B. | Derivative Projecls C. | Platform Projects | B | R & D projects
Projects -
88.1 If decision maker's information is not so complete, then decision making is under conditions of
A. | Risk B. | Failure C. { Uncertainty D. | Minimum Cost
89. | Considering industrial structures, economies whose majority of people belongs to agricultural business |
are classified as - . o o
A, | emerging B. | industrial economies | C. raw material B. | subsistence
economies exporting economies
economies
_90.| In cost accounting parlance ABC means o
A, Activity Based | B. | American Broadcastmg C. Assam Bengal | D. Audit of Big
| Costing Corporation Corporation Companies |
91.| Position Statement of an entity indicates
A. Income & B. | Balance Sheet C. Seniority list of | D. | A summary of the
Expenditure employees Assets Register
Account | . o
) 92.| Inventory means - ~ o L
A. | Materia! 84“ Labour C. | profit D. | Management
93. | Capital gearing indicates that the debt capital o
A. | Decreases B. | Increases C. | Remains constant | D. | All of the above
94. | For any business entity, capital is a/an .
A. | Asset B. | Liability C. | Profit D. | Net Asset }
95. Manaqement is the executive function of gct'unq things done by ......ovvveenein .
A. | Labourers B. | Staffs C. | Hired pcrsons J D. | Others
96.! LIFQ and FIFO are methods used for L o o
A. | Material control | B. | Labour Recruitment C. | stock Control D. | Capital
Management
97. In Economics, the term “liquidity” indicates
A. | Extra profits B. | Borrowed capital o Cash and cash | D. | All of the above
o equivalent o
98.| Adam Smith was a greatl o
A, | Capitalist B. | Paolitician C. | Economist D. | Scientist !
99.| The father of Scientific Managementis R )
A. | John Lock B. | Martin Luthar C. | Alfredo Pasta D. Frederick W.
- A Taylor |
100 Break-even point is the level of activity where total revenue equals the total ..o
A, | Cost B. | Profit C. | Assets D. | Income
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